Chem 342 Organic Chem |l Quiz o5

17 April 2002

21 points (3 points each) Mark your answers on the scantron sheet. You may keep this copy.

1. What is the product of the following reaction sequence?

1) Mg

/ \
@\Br % @\CHO b) <oj\COgMgBr @\COQH @\COBr

0 a) O c) O d)

2. What is the product of the reaction of benzoyl chloride with dimethyl cuprate?

o 1) (CHg)2CulLi 0 O HsC_ CHs

)J\ 2) H30+ . )J\ )J\ H30><C H3 ><CH3

of a)Ph” "OH b)Ph™ "CHz ¢) pPh™ “OH d) Ph

Ph

3. What is the product of the reaction of benzoyl chloride with methyl magnesium bromide?

1) CHzMgBr e} O

j\ 2) H30+ )J\ )J\ H3C><CH3 H3C><CH3

of > a)Ph” "OH b)Ph™ "CHs ¢) Ph™ "OH d) Ph™ "CHg

Ph

4. Rank the following molecules in order of acidity with the most acidic first.

COzH CO2H CO2H a)A>C>B
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c)B>A>C
A B ¢ d)C>A>B

5. Which of the following molecules is not at the same oxidation state as a carboxylic acid?

HsCO OCH; 0 0

R PN

a) HsC~ “OCHs b) HsC-C=N c) HaN” “NH, d) HsC” “OCHg

6. Which reducing agent would you use to carry out the following reduction?

O O
?
HSCO)I\/\H/OH - > HSCOMOH
O

a) LIAIH, b)BH; c)NaBH, d)DIBAH

7. Which of the following cannot be easily made directly from the carboxylic acid?

0] (o) 0]

0
a) RJ\NHZ b) R)J\cn c) RJ\OCHs d) RJ\ONa




